Y8 Working in the Cartesian Plane
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What do [ need to be abke Feywords
fo do? Quadrant: four quarters of the coordnate plane
By the end of this wit you should be able to: Coordnate.: a set of vales that show an exact postion
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*  Lobel and identfy ines paralel to the : : Horizortal a straight Ine. from kft to rght (paralel to the x axis) |
axes | | Vertical a straight e from top to bottom (paralel to the y axis) :
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*  Kecognise and use basic straght Ines
o gy Origin: (0.0) on a graph Tre pont. the two axes cross
*  lentify positive and neggaiive gradents
* Lirk inear grapts to sequences Parakel Lines that never meet
Pty =mx +c gaphs Gradeert: The steepness of a lne
Intercept: Where nes cross I
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= = The value of k changes the steepress |
|I Recoanise and use the e Y=x <—7" o sae) :[Reoomsemdusethe ines_y=kx gk o |
I Y1 coordnate have the some. | |
| : vale :| 4453 y=x Notey = the same as u=kk |
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| ) | The axes scale isimportart — if the scde isthe || 1 Theusl dhias The closer to O the value of k the closer the e |
| . - same y = x wil be a straght ine al 450 || & : thn e 00) wil be. to the x axis :
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, Dlrect Proportion ysing y=kx I Linesin the formy = x + a || | Plotting y = mx + ¢ araphs I
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| _ e 1 the y and x coordnate are o tat e [ 3 Pltting more ports helps you I
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